

Pay Estimate Created Date: June 16, 2021

Progress Estimate Number 6		Contract ID Prime Contractor	201218-C07 Pay Period Sta or Ideker, Inc. Pay Period End		June 2, 2021 June 15, 2021	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,391,640.52 (\$0.01) \$2,391,640.51	
Approval Date							By User	
June 16, 2021		Generated and Approved (and should be considered Draft) at the Project Office Level by						
June 16, 2021		Reviewe	ed and Approve	ed (and should be co	nsidered Draft) a	t the Resident Engineer Level by	karlic1	
June 17, 2021		Reviewed and Approved at the Central Office Controllers Office Level by						
Original Completion Date		Current Completi	on Date	Actual Completi	on Date	% of Current Contract Amou	nt Complete	

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2021	November 1, 2021		93.50%

Contract Informational Dates

Original Completion Date	Current Completion Date
January 6, 2021	January 6, 2021
December 18, 2020	December 18, 2020
March 8, 2021	March 8, 2021
March 22, 2021	March 22, 2021
	January 6, 2021 December 18, 2020 March 8, 2021

	Milestones										
Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days							
Milestone - Available Time J4S3252											
Milestone - Available Time J4S3261											
Milestone - Calendar Time J4S3252	July 18, 2021	July 18, 2021	32								
Milestone - Calendar Time J4S3261	June 30, 2021	June 30, 2021	14								
Milestone - Completion Date J4S3252	May 1, 2021	May 1, 2021	-46								
Milestone - Completion Date J4S3261	June 15, 2021	June 15, 2021	-1								

Contract Total Pay	Contract Total Pay For Estimate No. 6									
		This Estimate	Previous	To Date						
201218-C07										
	Total Posted Items Pay	\$31,274.35	\$2,204,913.38	\$2,236,187.73						
	Gross Item Adjustments	\$0.00	(\$20,973.21)	(\$20,973.21)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
	•		\$2,183,940.17	\$2,215,214.52						
Contract Total Pay	able This Estimate:	\$31.274.35								

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J4S3252	0020	2153000	SHAPING SLOPES, CLASS III	100F	\$675.000	1.8	\$1,215.00			
	0435	6061060	MGS GUARDRAIL	LF	\$18.750	400	\$7,500.00			
	0440	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$20.750	475	\$9,856.25			
	0450	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	LF	\$27.000	25	\$675.00			
	0470	6061080	MGS END ANCHOR	EA	\$800.000	1	\$800.00			
	0480	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$2,350.000	1	\$2,350.00			
Project J4S32	52 - Total						\$22,396.25			
J4S3261	0790	6191000	PAVEMENT EDGE TREATMENT	LF	\$3.850	2,306	\$8,878.10			
Project J4S32	roject J4S3261 - Total									
Overall - Total	verall - Total									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 29



Pay Estimate Created Date: June 16, 2021

	Progress Estimate Number 6	Contract ID Prime Contractor		Pay Period Start Pay Period End		Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,391,640.52 (\$0.01) \$2,391,640.51	
--	-------------------------------	---------------------------------	--	------------------------------------	--	--	--	--

oject mber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3252	0120	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-214.6	\$273.60	(\$58,714.56)
	0120	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	214.6	\$273.60	\$58,714.56
	0160	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material			-411	\$4.50	(\$1,849.50)
	0160	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user woodwj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	411	\$4.50	\$1,849.50
	0270	CONCRETE TRAFFIC BARRIER, TYPE D (MOMENT SLAB)	Material			-40	\$1,300.00	(\$52,000.00)
	0270	CONCRETE TRAFFIC BARRIER, TYPE D (MOMENT SLAB)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0019) due to user woodwj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.	40	\$1,300.00	\$52,000.00
	0310	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-104	\$14.00	(\$1,456.00)
	0310	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-404	\$14.00	(\$5,656.00
	0310	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0020) overridding Payment Estimate Exception 44 on the current Payment Estimate. Material Insufficiency Quantity 404.000; Overrun Quantity Balance 104.00.	104	\$14.00	\$1,456.00
	0310	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user woodwj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.	404	\$14.00	\$5,656.00
	0320	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-1	\$200.00	(\$200.00)
	0320	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-34	\$200.00	(\$6,800.00)
	0320	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0022) overridding Payment Estimate Exception 45 on the current Payment Estimate. Material Insufficiency Quantity 34.000; Overrun Quantity Balance 1.00.	1	\$200.00	\$200.00
	0320	PREFORMED THERMOPLASTIC	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	34	\$200.00	\$6,800.00

Revision 4/1/2020 Page 2 of 29



Pay Estimate Created Date: June 16, 2021

Progress Estimate Number	Contract ID Prime Contractor	Pay Period Start Pay Period End	- , -	Original Contract Amount Net Change Order Amount	\$2,391,640.52 (\$0.01)
6		 ,	04.10 10, 2021	Current Contract Amount	\$2,391,640.51

oject mber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3252		PAVEMENT MARKING, LEFT/RIGHT ARROW			Adjustment (0023) due to user woodwj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.			
	0330	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	Material			-1	\$450.00	(\$450.00
	0330	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0024) due to user woodwj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.	1	\$450.00	\$450.00
	0340	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	Material			-2	\$350.00	(\$700.00
	0340	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0025) due to user woodwj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.	2	\$350.00	\$700.00
	0350	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	Material			-44	\$95.00	(\$4,180.00
	0350	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.	44	\$95.00	\$4,180.00
	0435	MGS GUARDRAIL	Material			-1,875	\$18.75	(\$35,156.25
	0435	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	1,875	\$18.75	\$35,156.25
	0440	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun			-475	\$20.75	(\$9,856.25
	0440	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-299.5	\$20.75	(\$6,214.63
	0440	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material			-1,787.5	\$20.75	(\$37,090.62
	0440	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0028) overridding Payment Estimate Exception 46 on the current Payment Estimate. Material Insufficiency Quantity 1787.500; Overrun Quantity Balance 774.50.	475	\$20.75	\$9,856.25
	0440	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0029) overridding Payment Estimate Exception 46 on the current Payment Estimate. Material Insufficiency Quantity 1787.500; Overrun Quantity Balance 774.50.	299.5	\$20.75	\$6,214.63
	0440	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0030) due to user woodwj1	1,787.5	\$20.75	\$37,090.62

Revision 4/1/2020 Page 3 of 29



Pay Estimate Created Date: June 16, 2021

Prog	gress E	stimate Number 6	Contract Prime Co			Pay Period Start Pay Period End	, .	Net Chan	Contract Amo ge Order Amo contract Amo	ount (\$0	391,640.52 .01) 391,640.51
Project	Line	Item Descript	ion	Adjustment	Other Item		Comments		Adjustment	Line Item	Adjustment

	No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4S3252					overridding Payment Estimate Exception 6 on the current Payment Estimate.			
04)450	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	Material			-25	\$27.00	(\$675.00)
04)450	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	25	\$27.00	\$675.00
04)460	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material			-5	\$2,450.00	(\$12,250.00)
04)460	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0032) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	5	\$2,450.00	\$12,250.00
04	1470	MGS END ANCHOR	Material			-8	\$800.00	(\$6,400.00)
04)470	MGS END ANCHOR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	8	\$800.00	\$6,400.00
04)480	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material			-6	\$2,350.00	(\$14,100.00)
04	0480	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0034) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	6	\$2,350.00	\$14,100.00
J4S3261 05	540	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-2,946	\$11.45	(\$33,731.70)
05)540	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	2,946	\$11.45	\$33,731.70
08	0080	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-67	\$14.00	(\$938.00)
08	0080	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-115	\$14.00	(\$1,610.00)
08	0800	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 47 on the current Payment Estimate. Material Insufficiency Quantity 115.000; Overrun Quantity Balance 67.00.	67	\$14.00	\$938.00
08	0800	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.	115	\$14.00	\$1,610.00
08	810	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24	Material			-477	\$14.00	(\$6,678.00)



Pay Estimate Created Date: June 16, 2021

Progress Estimate Number 6	Contract ID Prime Contractor		- , -	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,391,640.52 (\$0.01) \$2,391.640.51
				Gurront Goritiaot / infoant	Ψ2,001,010.01

oject mber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3261		IN. YELLOW						
	0810	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.	477	\$14.00	\$6,678.00
	0820	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-9	\$225.00	(\$2,025.00
	0820	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.	9	\$225.00	\$2,025.00
	0830	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	Material			-2	\$200.00	(\$400.00
	0830	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.	2	\$200.00	\$400.00
	0880	SEEDING - COOL SEASON MIXTURES	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-0.7	\$30,800.00	(\$21,560.00
	0880	SEEDING - COOL SEASON MIXTURES	Material			-0.8	\$30,800.00	(\$24,640.00
	0880	SEEDING - COOL SEASON MIXTURES	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 42 on the current Payment Estimate. Material Insufficiency Quantity 0.800; Overrun Quantity Balance 0.70.	0.7	\$30,800.00	\$21,560.00
	0880	SEEDING - COOL SEASON MIXTURES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.	0.8	\$30,800.00	\$24,640.00
	0890	ALTERNATE DITCH CHECK	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-123	\$11.40	(\$1,402.20
	0890	ALTERNATE DITCH CHECK	Material			-231	\$11.40	(\$2,633.4
	0890	ALTERNATE DITCH CHECK	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0009) overridding Payment Estimate Exception 43 on the current Payment Estimate. Material Insufficiency Quantity 231.000; Overrun Quantity Balance 123.00.	123	\$11.40	\$1,402.20
	0890	ALTERNATE DITCH CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.	231	\$11.40	\$2,633.40
	0930	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material			-875	\$20.75	(\$18,156.2
	0930	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	875	\$20.75	\$18,156.25



Pay Estimate Created Date: June 16, 2021

Prog	jress Es	stimate Number 6	Contract Prime Co		201218-C07 deker, Inc.	Pay Period End June 15, 2021 Net Chan	Contract Amo ge Order Am Contract Amo	ount (\$0.	2,391,640.52 \$0.01) 2,391,640.51	
Project Number	Line No.	Item Descript	ion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
4S3261		;	SPACING			Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.				
	0940	MGS GUARDR POSTS, 3 FT		Material			-138	\$27.00	(\$3,726.00	
	0940 MGS GUARDRAIL, 6 POSTS, 3 FT 1.5			Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	138	\$27.00	\$3,726.00	
	0960	TYPE A CRASH END TERMINA		Material			-9	\$2,350.00	(\$21,150.00	
	0960	TYPE A CRASH END TERMINA		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	9	\$2,350.00	\$21,150.00	
	0970	BREAKAWAY AS (PERFORATED STE		Material			-2	\$300.00	(\$600.00	
	0970	BREAKAWAY AS (PERFORATED STE		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.	2	\$300.00	\$600.00	
	0980	2 IN. PSST POS	T - 12 GA.	Material			-22	\$15.00	(\$330.00	
	0980	2 IN. PSST POS	Γ - 12 GA.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user woodwj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.	22	\$15.00	\$330.00	
	0990	SH-FLA	T SHEET	Material			-12	\$20.00	(\$240.00	
	0990	SH-FLA	AT SHEET	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.	12	\$20.00	\$240.00	
otal									\$0.00	

Revision 4/1/2020 Page 6 of 29



					C	contract Project Information	n							
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work								
J4S3252	FAS S302(76)	Resurface	9	PLATTE	from Mattox Rd. to I-635 in I	Mattox Rd. to I-635 in Riverside								
J4S3261	FAS S302(79)	Resurface	9	PLATTE	from Rte. FF to Mattox Road	m Rte. FF to Mattox Road								
Totals by Job Numbers														
J4S3252	Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive				This Estimate \$22,396.25 \$0.00 \$22,396.25 \$0.00	Previous \$1,084,538.00 (\$27,418.20) \$1,057,119.80 \$0.00	To Date \$1,106,934.25 (\$27,418.20) \$1,079,516.05							
		entive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00							
J4S3261		d Item Pay Item Adjustm		item Pay	This Estimate \$8,878.10 \$0.00 \$8,878.10	Previous \$1,120,375.38 \$6,444.99 \$1,126,820.37	To Date \$1,129,253.48 \$6,444.99 \$1,135,698.47							
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00							

Revision 4/1/2020 Page 7 of 29



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 3040504, Project Item Line Number 0540, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061060, Project Item Line Number 0435, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061060, Project Item Line Number 0435, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6061061, Project Item Line Number 0930, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6061061, Project Item Line Number 0930, Material Set 606106196, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061061, Project Item Line Number 0440, Material Set 606106196, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061061, Project Item Line Number 0440, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6061063, Project Item Line Number 0940, Material Set 606106396, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6061063, Project Item Line Number 0940, Material Set 606106396, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061063, Project Item Line Number 0450, Material Set 606106396, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061063, Project Item Line Number 0450, Material Set 606106396, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061069, Project Item Line Number 0460, Material Set 606106996, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6061080, Project Item Line Number 0470, Material Set 606108096, Material 1040GRBEESCAT2 - Breakaway End Anchor End Sect CI A Typ 2, Acceptance Action Generic 1040GRBEESCAT2 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6063014, Project Item Line Number 0960, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6063014, Project Item Line Number 0480, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6131010, Project Item Line Number 0120, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6131010, Project Item Line Number 0120, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6131010, Project Item Line Number 0120, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6131010, Project Item Line Number 0120, Material Set 613101096, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6131015, Project Item Line Number 0160, Material Set 613101596, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Testing requirement will be resolved after CO is approved	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 1005FACCNSCA - Natural Sand for Conc Class A,	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden

Revision 4/1/2020 Page 8 of 29



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Acceptance Action Generic 1005FACCNSCA is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6173103, Project Item Line Number 0270, Material Set 6173103, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6200015, Project Item Line Number 0800, Material Set 620001596, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6200015, Project Item Line Number 0310, Material Set 620001596, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6200018, Project Item Line Number 0810, Material Set 620001896, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6200021, Project Item Line Number 0820, Material Set 620002196, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6200021, Project Item Line Number 0320, Material Set 620002196, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 6200024, Project Item Line Number 0830, Material Set 620002496, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6200027, Project Item Line Number 0330, Material Set 620002796, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6200030, Project Item Line Number 0340, Material Set 620003096, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3252, Item 6200036, Project Item Line Number 0350, Material Set 620003696, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Pavement Marking Report will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 8051000A, Project Item Line Number 0880, Material Set 8051000A96, Material 0802MLSP - Overspray Slick Paper, Acceptance Action Generic 0802MLSP is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 8061006, Project Item Line Number 0890, Material Set 806100696, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 9031241, Project Item Line Number 0970, Material Set 903124196, Material 0903HSBA - Breakaway Assembly for Highway Signing, Acceptance Action Generic 0903HSBA is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 9031270A, Project Item Line Number 0980, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3261, Item 9035004A, Project Item Line Number 0990, Material Set 9035004A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3261, Project Item Line Number 0880, Contract Line Item Number 0880, Item 8051000A, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3261, Project Item Line Number 0890, Contract Line Item Number 0890, Item 8061006, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0310, Contract Line Item Number 0310, Item 6200015, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0320, Contract Line Item Number 0320, Item 6200021, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0440, Contract Line Item Number 0440, Item 6061061, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3261, Project Item Line Number 0800, Contract Line Item Number 0800, Item 6200015, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3261, Project Item Line Number 0550, Contract Line Item Number 0550, Item 4011209, Minor Item.	Item overrun will be addressed in a later Change Order	woodwi1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3261, Project Item Line Number 0560, Contract Line Item Number 0560, Item 4013000, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged

Revision 4/1/2020 Page 9 of 29



Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Line Number 0060, Contract Line Item Number 0060, Item 4030103, Minor Item.			
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0070, Contract Line Item Number 0070, Item 4071005, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0230, Contract Line Item Number 0230, Item 6161030, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0360, Contract Line Item Number 0360, Item 6205902A, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0370, Contract Line Item Number 0370, Item 6205903A, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0380, Contract Line Item Number 0380, Item 6205906A, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0390, Contract Line Item Number 0390, Item 6206000C, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6206001C, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0410, Contract Line Item Number 0410, Item 6207001, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-C07, Contract Project J4S3252, Project Item Line Number 0430, Contract Line Item Number 0430, Item 6261000A, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged

Revision 4/1/2020 Page 10 of 29



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted ame Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
NIII.CONTRACT	NO.		INO.	Code		Quantity	Order	Quantity		Approved Qty		generated date)
201218-C07	J4S3252	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,700.00	\$6,700.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	5.00	\$675.00	\$3,375.00
		0001	0030	3105003	GRAVEL (A) OR CRUSHED STONE (B)	53.00	0.00	53.00	SQYD	0.00	\$22.00	\$0.00
		0001	0040	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,655.60	0.00	1,655.60	TONS	1,341.40	\$59.83	\$80,255.96
		0001	0050	4019905	MISC.BITUMINOUS SHOULDER REPAIR	100.00	0.00	100.00	SQYD	98.30	\$241.53	\$23,742.40
		0001	0060	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	6,666.80	0.00	6,666.80	TONS	7,657.00	\$54.64	\$418,378.48
		0001	0070	4071005	TACK COAT	8,559.00	0.00	8,559.00	GAL	8,825.00	\$2.50	\$22,062.50
		0001	0080	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	1.00	0.00	1.00	EA	1.00	\$2,250.00	\$2,250.00
		0001	0090	6122020	REPLACEMENT SAND BARREL	9.00	0.00	9.00	EA	0.00	\$250.00	\$0.00
		0001	0100	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	0.00	1.00	EA	1.00	\$500.00	\$500.00
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0120	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	260.00	0.00	260.00	SQYD	214.60	\$273.60	\$58,714.56
		0001	0130	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	26.00	0.00	26.00	SQYD	12.00	\$1.00	\$12.00
		0001	0140	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	26.00	0.00	26.00	SQYD	0.00	\$1.00	\$0.00
		0001	0150	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,188.00	0.00	1,188.00	LF	954.00	\$1.45	\$1,383.30
		0001	0160	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	660.00	0.00	660.00	EA	411.00	\$4.50	\$1,849.50
		0001	0170	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	39.90	0.00	39.90	TONS	19.60	\$231.99	\$4,547.00
		0001	0180	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	200.00	0.00	200.00	SQYD	83.30	\$128.42	\$10,697.39
		0001	0190	6161005	CONSTRUCTION SIGNS	974.00	0.00	974.00	SQFT	938.93	\$4.00	\$3,755.72
		0001	0200	6161008	ADVANCED WARNING RAIL SYSTEM	12.00	0.00	12.00	EA	0.00	\$25.00	\$0.00
		0001	0210	6161009	FLAG ASSEMBLY	12.00	0.00	12.00	EA	0.00	\$25.00	\$0.00
		0001	0220	6161025	CHANNELIZER (TRIM LINE)	350.00	0.00	350.00	EA	265.00	\$15.00	\$3,975.00
		0001	0230	6161030	TYPE III MOVEABLE BARRICADE	4.00	0.00	4.00	EA	6.00	\$100.00	\$600.00
		0001	0240	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	1.00	\$1,400.00	\$1,400.00
		0001	0250	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,300.00	\$6,600.00
		0001	0260	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	15.00	0.00	15.00	EA	15.00	\$380.00	\$5,700.00
		0001	0270	6173103	CONCRETE TRAFFIC BARRIER, TYPE D (MOMENT SLAB)	40.00	0.00	40.00	LF	40.00	\$1,300.00	\$52,000.00
		0001	0280	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	70.00	0.00	70.00	LF	70.00	\$56.00	\$3,920.00
		0001	0290	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	70.00	0.00	70.00	LF	70.00	\$25.00	\$1,750.00
		0001	0300	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$163,655.72	\$163,655.72
		0001	0310	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	300.00	0.00	300.00	LF	404.00	\$14.00	\$5,656.00
		0001	0320	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	33.00	0.00	33.00	EA	34.00	\$200.00	\$6,800.00
		0001	0330	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	1.00	0.00	1.00	EA	1.00	\$450.00	\$450.00
		0001	0340	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	2.00	0.00	2.00	EA	2.00	\$350.00	\$700.00
		0001	0350	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	46.00	0.00	46.00	EA	44.00	\$95.00	\$4,180.00
		0001	0360	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	26,493.00	0.00	26,493.00	LF	31,822.00	\$0.20	\$6,364.40
		0001	0370	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	16,318.00	0.00	16,318.00	LF	19,068.00	\$0.20	\$3,813.60
		0001	0380	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,780.00	0.00	2,780.00	LF	3,655.00	\$0.50	\$1,827.50
		0001	0390	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	563.00	0.00	563.00	LF	1,182.00	\$0.15	\$177.30
		0001	0400		4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	380.00	0.00	380.00	LF	2,173.00	\$0.15	\$325.95
		0001	0410	6207001	PAVEMENT MARKING REMOVAL	1,269.00	0.00	1,269.00	LF	2,357.00	\$0.50	\$1,178.50
		0001	0420	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	85,591.00	0.00	85,591.00	SQYD	80,040.00	\$1.08	\$86,443.20

Revision 4/1/2020 Page 11 of 29



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201218-C07	J4S3252	0001	0430	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	23.00	0.00	23.00	STA	23.30	\$215.51	\$5,021.38
		0010	0435	6061060	MGS GUARDRAIL	2,362.50	0.00	2,362.50	LF	1,875.00	\$18.75	\$35,156.25
		0010	0440	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,013.00	0.00	1,013.00	LF	1,787.50	\$20.75	\$37,090.62
		0010	0450	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	175.00	0.00	175.00	LF	25.00	\$27.00	\$675.00
		0010	0460	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	5.00	0.00	5.00	EA	5.00	\$2,450.00	\$12,250.00
		0010	0470	6061080	MGS END ANCHOR	8.00	0.00	8.00	EA	8.00	\$800.00	\$6,400.00
		0010	0480	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	6.00	\$2,350.00	\$14,100.00
	Project J4	4S3252 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,106,934.24
	J4S3261	0001	0490	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$114,163.16	\$114,163.16
		0001	0500	2037075	COMPACTING IN CUT	26.50	0.00	26.50	STA	0.00	\$325.00	\$0.00
		0001	0510	2071000	LINEAR GRADING CLASS 1	13.30	0.00	13.30	STA	13.30	\$1,106.00	\$14,709.80
		0001	0520	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	14.00	0.00	14.00	100F	14.00	\$222.00	\$3,108.00
		0001	0530	2153000	SHAPING SLOPES, CLASS III	16.00	0.00	16.00	100F	16.00	\$675.00	\$10,800.00
		0001	0540	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	2,946.00	0.00	2,946.00	SQYD	2,946.00	\$11.45	\$33,731.70
		0001	0550	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,492.70	0.00	1,492.70	TONS	1,513.30	\$60.16	\$91,040.13
		0001	0560	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	3,305.30	0.00	3,305.30	TONS	3,356.50	\$59.02	\$198,100.63
		0001	0570	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	5,478.30	0.00	5,478.30	TONS	4,127.24	\$54.90	\$226,585.48
		0001	0580	4039905	MISC.OPTIONAL PAVEMENT	2,945.10	0.00	2,945.10	SQYD	2,764.50	\$38.26	\$105,769.77
		0001	0590	4071005	TACK COAT	9,967.00	0.00	9,967.00	GAL	5,465.00	\$2.50	\$13,662.50
		0001	0600	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	118.00	0.00	118.00	GAL	0.00	\$0.01	\$0.00
		0001	0610	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0620	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	128.00	0.00	128.00	SQYD	0.00	\$383.35	\$0.00
		0001	0630	6131012	DEPTH PAVEMENT REPAIR SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	13.00	0.00	13.00	SQYD	0.00	\$1.00	\$0.00
		0001	0640	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	13.00	0.00	13.00	SQYD	0.00	\$1.00	\$0.00
		0001			(PAVEMENT REPAIR)							
		0001	0650	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	576.00	0.00	576.00	LF	0.00	\$1.45	\$0.00
		0001	0660	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	384.00	0.00	384.00	EA	0.00	\$4.50	\$0.00
		0001	0670	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	43.50	0.00	43.50	TONS	22.40	\$227.64	\$5,099.14
		0001	0680	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	130.00	0.00	130.00	SQYD	109.50	\$121.73	\$13,329.44
		0001	0690	6161005	CONSTRUCTION SIGNS	946.00	0.00	946.00	SQFT	592.00	\$3.00	\$1,776.00
		0001	0700	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$25.00	\$0.00
		0001	0710	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$15.00	\$0.00
		0001	0720	6161025	CHANNELIZER (TRIM LINE)	319.00	0.00	319.00	EA	115.00	\$15.00	\$1,725.00
		0001	0730	6161030	TYPE III MOVEABLE BARRICADE	3.00	0.00	3.00	EA	0.00	\$100.00	\$0.00
		0001	0740	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	1.00	\$900.00	\$900.00
		0001	0750	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,400.00	\$4,800.00
		0001	0760	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	0.00	\$380.00	\$0.00
		0001	0770	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$122,305.21	\$122,305.21
		0001	0780	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	0790	6191000	PAVEMENT EDGE TREATMENT	2,651.00	0.00	2,651.00	LF	2,306.00	\$3.85	\$8,878.10
		0001	0800	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	48.00	0.00	48.00	LF	115.00	\$14.00	\$1,610.00
		0001	0810	6200018	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	495.00	0.00	495.00	LF	477.00	\$14.00	\$6,678.00
		0001	0820	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	16.00	0.00	16.00	EA	9.00	\$225.00	\$2,025.00
		0001	0830	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	2.00	0.00	2.00	EA	2.00	\$200.00	\$400.00

Revision 4/1/2020 Page 12 of 29



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201218-C07	J4S3261	0001	0840	6206000C	$4\mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	24,337.00	0.00	24,337.00	LF	23,021.00	\$0.07	\$1,611.47
		0001	0850	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	18,986.00	0.00	18,986.00	LF	15,216.00	\$0.07	\$1,065.12
		0001	0860	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	54,729.00	0.00	54,729.00	SQYD	52,353.00	\$1.06	\$55,494.18
		0001	0870	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000.00
		0001	0880	8051000A	SEEDING - COOL SEASON MIXTURES	0.10	0.00	0.10	ACRE	0.80	\$30,800.00	\$24,640.00
		0001	0890	8061006	ALTERNATE DITCH CHECK	108.00	0.00	108.00	LF	231.00	\$11.40	\$2,633.40
		0001	0900	8061016	SEDIMENT REMOVAL	18.00	0.00	18.00	CUYD	0.00	\$146.60	\$0.00
		0001	0910	8061017	TEMPORARY SEEDING AND MULCHING	0.10	0.00	0.10	ACRE	0.00	\$1,000.00	\$0.00
		0001	0920	8064132	TYPE 1B EROSION CONTROL BLANKET	4,297.00	0.00	4,297.00	SQYD	4,000.00	\$1.69	\$6,760.00
		0010	0930	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	875.00	0.00	875.00	LF	875.00	\$20.75	\$18,156.25
		0010	0940	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	138.00	0.00	138.00	LF	138.00	\$27.00	\$3,726.00
		0010	0950	6061074	MGS HEIGHT AND BLOCK TRANSITION	3.00	0.00	3.00	EA	3.00	\$550.00	\$1,650.00
		0010	0960	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9.00	0.00	9.00	EA	9.00	\$2,350.00	\$21,150.00
		0040	0970	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	2.00	0.00	2.00	EA	2.00	\$300.00	\$600.00
		0040	0980	9031270A	2 IN. PSST POST - 12 GA.	22.00	0.00	22.00	LF	22.00	\$15.00	\$330.00
		0040	0990	9035004A	SH-FLAT SHEET	12.00	0.00	12.00	SQFT	12.00	\$20.00	\$240.00
	Project J	4S3261 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,129,253.46
201218-C07 Ove	erall - Total	Value Pos	ted to Dat	te as of Repo	ort Generated Date							\$2,236,187.70

Revision 4/1/2020 Page 13 of 29



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4S3252

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2153000	SHAPING SLOPES, CLASS III	6/3/21	6/16/21	1.80	100F	Run 3 completed on 6/1	8.04				Run 3 - 0.8 Run 5 - 1.0
0435	6061060	MGS GUARDRAIL	6/3/21	6/16/21	400.00	LF	Run 3 completed on 6/1	8.04				
0440	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	6/3/21	6/16/21	475.00	LF	Run 3 completed on 6/1 Run 5 replacement on 5/25	8.04				Run 3 - 187.5 LF Run 5 - 287.5 LF
0450	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5	6/3/21	6/16/21	25.00	LF	Run 5 replacement on 5/25	5.983				
0470	6061080	MGS END ANCHOR	6/3/21	6/16/21	1.00	EA	Run 3 completed on 6/1	8.04				
0480	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6/3/21	6/16/21	1.00	EA	Run 3 completed on 6/1	8.04				

Project: J4S3261

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0790	6191000	PAVEMENT EDGE TREATMENT	6/3/21	6/16/21	2,306.00	LF	TWLTL both pavement edges excluding the concrete entrance exceptions	5.834		6.085		Concrete Exceptions - 80 FT for Coffey RD - 110 FT for Gas Station - 85 FT for River Chase Ln - 70 FT for Ball Power Entrance

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 14 of 29



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
252	0040	BIT. PAVEMENT MIXTURE	Other Item Adjustment	ACAD	4	May 17, 2021	woodwj1	\$2,823.20	AC adjustment for Estimate 0004 May 2 period. SP125 mix used in lieu of BP-1 - \$171.52
		PG64-22 (BP-1)		ACAD - Tota	al			\$2,823.20	
			Other Item	Adjustment -	Total			\$2,823.20	
			Price FUEL		4	May 17, 2021	SYSTEM	\$3,117.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$3,117.42	
			Price FUEL	- Total				\$3,117.42	
	0040 -	Total						\$5,940.62	
	0050	MISC.	Other Item Adjustment	ACAD	1	Apr 2, 2021	woodwj1	\$19.47	AC adjustment for March 21 period
				ACAD - Tota	al			\$19.47	
			Other Item	Adjustment -	Total			\$19.47	
	0050 -	Total						\$19.47	
	0060	ASPHALTIC CONCRETE	Other Item Adjustment	ACAD	3	May 3, 2021	woodwj1	\$1,496.52	AC adjustment for Estimate 0003 April 16 period
		MIXTURE PG 70-22 (SP125C MIX)			4	May 17, 2021	woodwj1	\$15,907.91	AC adjustment for Estimate 0004 May 2 period
				ACAD - Tota	al			\$17,404.43	
			Other Item /	Adjustment -	Total			\$17,404.43	
			Overrun	Overrun	4	May 17, 2021	SYSTEM	(\$56,405.75)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$56,405.75)	
			Overrun - T	otal				(\$56,405.75)	
			Price FUEL		3	May 3, 2021	SYSTEM	\$1,452.70	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 17, 2021	SYSTEM	\$15,911.73	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$17,364.43	
			Price FUEL	- Total				\$17,364.43	
	0060 -	Total						(\$21,636.89)	
	0070	TACK COAT	Material		1	Apr 2, 2021	SYSTEM	\$182.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1 Apr 2, 2021		SYSTEM	(\$182.50)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	4	May 17, 2021	SYSTEM	(\$665.00)	
				Overrun - T	otal			(\$665.00)	
			Overrun - T	otal				(\$665.00)	
	0070 -	Total						(\$665.00)	
	0110	TRUCK OR TRAILER MOUNTED	Material		5	Jun 2, 2021	SYSTEM	\$500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
		ATTEN (TMA)			5	Jun 2, 2021	SYSTEM	(\$500.00)	•
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0110 -	Total						\$0.00	
	0120	FURN & PLACE CONC MATL FOR FULL	Material		1	Apr 2, 2021	SYSTEM	\$58,714.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		DEPTH			1	Apr 2, 2021	SYSTEM	(\$58,714.56)	
					2	Apr 16,	SYSTEM	\$58,714.56	This adjustment offsets the original system-generated Material Payment
					-	, ipi 10,	O I O I LIVI	φου,,, 1 1 .00	aajasanon onooto tilo onginai oyotom-gonoratod Matoriai i ayinent



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3252	0120	FURN & PLACE CONC MATL	Material			2021			Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		FOR FULL DEPTH			2	Apr 16, 2021	SYSTEM	(\$58,714.56)	
					3	May 3, 2021	SYSTEM	\$58,714.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					3	May 3, 2021	SYSTEM	(\$58,714.56)	
					4	May 17, 2021	SYSTEM	\$58,714.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					4	May 17, 2021	SYSTEM	(\$58,714.56)	
					5	Jun 2, 2021	SYSTEM	\$58,714.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$58,714.56)	
					2021 Estimate Item Adjustment (0017) due to user wood	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.			
					6	Jun 16, 2021	SYSTEM	(\$58,714.56)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0120 -	Total						\$0.00	
	0130	SUBGRADE COMPACTION (6 IN. DEPTH)	Material		1	Apr 2, 2021	SYSTEM	\$12.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
		(FAVEIVI	(PAVEM		1	Apr 2, 2021	SYSTEM	(\$12.00)	
					Total			\$0.00	
			Material - To	laterial - Total				\$0.00	
	0130 -	· Total						\$0.00	
	0160								
		(DRILLING, FURNISHING	Material		1	Apr 2, 2021	SYSTEM	\$1,849.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
		(DRILLING,	Material		1		SYSTEM SYSTEM		Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material			2021 Apr 2,		\$1,849.50	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1	2021 Apr 2, 2021 Apr 16,	SYSTEM	\$1,849.50 (\$1,849.50)	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1 2	2021 Apr 2, 2021 Apr 16, 2021 Apr 16,	SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1 2 2	2021 Apr 2, 2021 Apr 16, 2021 Apr 16, 2021 May 3,	SYSTEM SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50)	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1 2 2 3	2021 Apr 2, 2021 Apr 16, 2021 Apr 16, 2021 May 3, 2021 May 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) \$1,849.50	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1 2 2 3 3 3	2021 Apr 2, 2021 Apr 16, 2021 Apr 16, 2021 May 3, 2021 May 3, 2021 May 17,	SYSTEM SYSTEM SYSTEM SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) \$1,849.50	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1 2 2 3 3 3 4	2021 Apr 2, 2021 Apr 16, 2021 Apr 16, 2021 May 3, 2021 May 3, 2021 May 17, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50)	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment
		(DRILLING, FURNISHING	Material		1 2 2 3 3 4 4 4	2021 Apr 2, 2021 Apr 16, 2021 Apr 16, 2021 May 3, 2021 May 3, 2021 May 17, 2021 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) (\$1,849.50)	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 18 on the current Payment Estimate.
		(DRILLING, FURNISHING	Material		1 2 2 3 3 4 4 5 5	2021 Apr 2, 2021 Apr 16, 2021 Apr 16, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) \$1,849.50 (\$1,849.50) (\$1,849.50 (\$1,849.50)	Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 18 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J4S3252	0160	DOWEL BAR	Material			2021				
		(DRILLING, FURNISHING		- Total				\$0.00		
		AND INST	Material - To	otal				\$0.00		
	0160 -	- Total						\$0.00		
	0170	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Other Item Adjustment	ACAD		Apr 2, 2021	woodwj1	\$17.98	AC adjustment for March 21 period	
				ACAD - Tot				\$17.98		
			Other Item	Adjustment -	Total			\$17.98		
	0170 -							\$17.98		
	0230	TYPE III MOVEABLE BARRICADE	Overrun	Overrun		Apr 16, 2021	SYSTEM	(\$200.00)		
				Overrun - T	otai			(\$200.00)		
			Overrun - T	otal				(\$200.00)		
	0230 -				_			(\$200.00)		
	0270	CONCRETE TRAFFIC BARRIER, TYPE D (MOMENT	Material		2	Apr 16, 2021	SYSTEM	\$52,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
		SLAB)			2	Apr 16, 2021	SYSTEM	(\$52,000.00)		
					3	May 3, 2021	SYSTEM	\$52,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	
					3	May 3, 2021	SYSTEM	(\$52,000.00)		
					4	May 17, 2021	SYSTEM	\$52,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	
					4	May 17, 2021	SYSTEM	(\$52,000.00)		
					5	Jun 2, 2021	SYSTEM	\$52,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user woodwj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	
					5	Jun 2, 2021	SYSTEM	(\$52,000.00)		
					6	Jun 16, 2021	SYSTEM	\$52,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user woodwj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.	
					6	Jun 16, 2021	SYSTEM	(\$52,000.00)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0270 -	· Total						\$0.00		
	0310	PREF THERMO PVMT MARK, 24 IN WHIT	Material		5	Jun 2, 2021	SYSTEM	\$5,656.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.	
					5	Jun 2, 2021	SYSTEM	(\$5,656.00)		
					6	6	Jun 16, 2021	SYSTEM	\$5,656.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user woodwj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$5,656.00)		
								\$0.00		
			Meterial To	- Total						
			Material - To					\$0.00		
			Material - To		5	Jun 2, 2021	woodwj1	\$0.00 (\$1,456.00)	Manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date	
				otal	5		woodwj1			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
J4S3252	0310	PREF THERMO	Overrun	Overrun		2021					
		PVMT MARK, 24 IN WHIT			6	Jun 16, 2021	SYSTEM	(\$1,456.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).		
					6	Jun 16, 2021	SYSTEM	\$1,456.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) overridding Payment Estimate Exception 44 on the current Payment Estimate. Material Insufficiency Quantity 404.000; Overrun Quantity Balance 104.00.		
				Overrun - T	otal			(\$1,456.00)			
			Overrun - T	otal				(\$1,456.00)			
	0310 -	Total						(\$1,456.00)			
	0320	PREF THERMO PVMT MARK, LT/RT ARROW	Material		5	Jun 2, 2021	SYSTEM	\$6,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user woodwj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.		
					5	Jun 2, 2021	SYSTEM	(\$6,800.00)			
					6	Jun 16, 2021	SYSTEM	\$6,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user woodwj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.		
					6	Jun 16, 2021	SYSTEM	(\$6,800.00)			
				- Total				\$0.00			
			Material - T	otal				\$0.00			
			Overrun	Overrun	5	Jun 2, 2021	woodwj1	(\$200.00)	Manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date		
					5	Jun 2, 2021	SYSTEM	\$200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) overridding Payment Estimate Exception 46 on the current Payment Estimate. Material Insufficiency Quantity 34.000; Overrun Quantity Balance 1.00.		
							5	Jun 2, 2021	SYSTEM	(\$200.00)	
					6	Jun 16, 2021	SYSTEM	(\$200.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).		
					6	Jun 16, 2021	SYSTEM	\$200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) overridding Payment Estimate Exception 45 on the current Payment Estimate. Material Insufficiency Quantity 34.000; Overrun Quantity Balance 1.00.		
				Overrun - T	otal			(\$200.00)			
			Overrun - T	rrun - Total							
	0320 -	Total						(\$200.00)			
	0330	PREF THERMO PVMT MARKING, COMBO	Material		5	Jun 2, 2021	SYSTEM	\$450.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user woodwj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.		
		COMBO			5	Jun 2, 2021	SYSTEM	(\$450.00)			
					6	Jun 16, 2021	SYSTEM	\$450.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user woodwj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.		
					6	Jun 16, 2021	SYSTEM	(\$450.00)			
				- Total				\$0.00			
			Material - T	otal				\$0.00			
	0330 -	Total						\$0.00			
	0340 PRI	PREF THERMO PVMT MARK, WORD (ONLY)	Material		5	Jun 2, 2021	SYSTEM	\$700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.		
					5	Jun 2, 2021	SYSTEM	(\$700.00)			
					6	Jun 16, 2021	SYSTEM	\$700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user woodwj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.		
					6	Jun 16, 2021	SYSTEM	(\$700.00)			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3252	0340	PREF THERMO PVMT MARK,	Material	- Total				\$0.00	
		WORD (ONLY)	Material - To	otal				\$0.00	
	0340 -	Total						\$0.00	
	0350	PREF THERMO PVMT MARK, 30" WHT MIDBL	Material		5	Jun 2, 2021	SYSTEM	\$4,180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$4,180.00)	
					6	Jun 16, 2021	SYSTEM	\$4,180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$4,180.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0350 -	Total						\$0.00	
	0360	6 IN. WHITE HIGH BUILD	Overrun	Overrun	5	Jun 2, 2021	SYSTEM	(\$1,065.80)	
		WATERBORNE PAINT		Overrun - T	otal			(\$1,065.80)	
			Overrun - T	otal				(\$1,065.80)	
	0360 -	Total						(\$1,065.80)	
	0370	6 IN. YELLOW HIGH BUILD WATERBORNE	Overrun	Overrun	5	Jun 2, 2021	SYSTEM	(\$550.00)	
		PAINT		Overrun - T	otal			(\$550.00)	
			Overrun - T	otal				(\$550.00)	
	0370 -	Total						(\$550.00)	
	0380	12 IN. WHITE HIGH BUILD WATERBORNE	Overrun	Overrun	5	Jun 2, 2021	SYSTEM	(\$437.50)	
		PAINT		Overrun - T	otal			(\$437.50)	
			Overrun - T	otal				(\$437.50)	
	0380 -	Total						(\$437.50)	
	0390	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		1	Apr 2, 2021	SYSTEM	\$138.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
		WARKING			1	Apr 2, 2021	SYSTEM	(\$138.60)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	1	Apr 2, 2021	SYSTEM	\$54.15	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 924.000; Overrun Quantity Balance 361.00.
					1	Apr 2, 2021	woodwj1	(\$54.15)	manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date
					1	Apr 2, 2021	SYSTEM	(\$54.15)	
					2	Apr 16, 2021	SYSTEM	(\$54.15)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	May 3, 2021	woodwj1	\$54.15	Material Exceptions were resolved so the manual adjustment from Estimate 0002 is removed
					5	Jun 2, 2021	SYSTEM	(\$38.70)	
				Overrun - T	otal			(\$92.85)	
			Overrun - T	otal				(\$92.85)	
	0390 -	Total						(\$92.85)	
	0400	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		1	Apr 2, 2021	SYSTEM	\$66.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3252	0400	4 IN. YELLOW WATERBORNE PAVEMENT	Material		1	Apr 2, 2021	SYSTEM	(\$66.45)	
		MARKING		- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	1	Apr 2, 2021	SYSTEM	\$9.45	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 19 on the current Payment Estimate. Material Insufficiency Quantity 443.000; Overrun Quantity Balance 63.00.
					1	Apr 2, 2021	woodwj1	(\$9.45)	manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date
					1	Apr 2, 2021	SYSTEM	(\$9.45)	
					2	Apr 16, 2021	SYSTEM	(\$9.45)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	May 3, 2021	woodwj1	\$9.45	Material Exceptions were resolved so the manual adjustment from Estimate 0002 is removed
					5	Jun 2, 2021	SYSTEM	(\$259.50)	
				Overrun - T	otal			(\$268.95)	
			Overrun - Total					(\$268.95)	
	0400 -	Total						(\$268.95)	
	0410	PAVEMENT MARKING	Overrun	Overrun	3	May 3, 2021	SYSTEM	(\$544.00)	
		REMOVAL		Overrun - T	otal			(\$544.00)	
			Overrun - T	otal				(\$544.00)	
	0410 -	Total						(\$544.00)	
	0430	BITUMINOUS SHOULDER RUMBLE STRIP	Overrun	Overrun	4	May 17, 2021	SYSTEM	(\$64.65)	
		NOWIDEL STRIP		Overrun - T	otal			(\$64.65)	
			Overrun - T	otal				(\$64.65)	
	0430 -	Total						(\$64.65)	
	0435	MGS GUARDRAIL	Material		2	Apr 16, 2021	SYSTEM	\$5,859.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
									Estimate Exception 2 on the current rayment Estimate.
					2	Apr 16, 2021	SYSTEM	(\$5,859.38)	Estimate Exception 2 of the current ayricht Estimate.
					3		SYSTEM	(\$5,859.38) \$5,859.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
						2021 May 3,			This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment
					3	2021 May 3, 2021 May 3,	SYSTEM	\$5,859.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment
					3	2021 May 3, 2021 May 3, 2021 May 17,	SYSTEM SYSTEM	\$5,859.38 (\$5,859.38)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment
					3 4	2021 May 3, 2021 May 3, 2021 May 17, 2021	SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment
					3 4 4	2021 May 3, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2,	SYSTEM SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38 (\$5,859.38)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment
					3 3 4 4 5	2021 May 3, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38 (\$5,859.38) \$27,656.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment
					3 3 4 4 5 5 5	2021 May 3, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2, 2021 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38 (\$5,859.38) \$27,656.25 (\$27,656.25)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
				- Total	3 3 4 4 5 5 5 6 6	2021 May 3, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2, 2021 Jun 16, 2021 Jun 16, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38 (\$5,859.38) \$27,656.25 (\$27,656.25) \$35,156.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
			Material - To		3 3 4 4 5 5 5 6 6	2021 May 3, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2, 2021 Jun 16, 2021 Jun 16, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38 (\$5,859.38) \$27,656.25 (\$27,656.25) \$35,156.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment
	0435 -	·Total	Material - To		3 3 4 4 5 5 5 6 6	2021 May 3, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2, 2021 Jun 16, 2021 Jun 16, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,859.38 (\$5,859.38) \$5,859.38 (\$5,859.38) \$27,656.25 (\$27,656.25) \$35,156.25 (\$35,156.25)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
J4S3252	0440	FT. POSTS, 6	Material						Estimate Exception 4 on the current Payment Estimate.				
		FT 3 IN			3	May 3, 2021	SYSTEM	(\$4,150.00)					
					4	May 17, 2021	SYSTEM	\$4,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.				
					4	May 17, 2021	SYSTEM	(\$4,150.00)					
					5	Jun 2, 2021	SYSTEM	\$27,234.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.				
					5	Jun 2, 2021	SYSTEM	(\$27,234.38)					
					6	Jun 16, 2021	SYSTEM	\$37,090.62	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.				
					6 Jun 16, 2021		SYSTEM	(\$37,090.62)					
				- Total				\$0.00					
			Material - To	otal				\$0.00					
			Overrun	Overrun	5	Jun 2, 2021	woodwj1	(\$6,214.63)	Manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date				
						5	Jun 2, 2021	SYSTEM	\$2,075.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) overridding Payment Estimate Exception 52 on the current Payment Estimate. Material Insufficiency Quantity 1312.500; Overrun Quantity Balance 299.50.			
					5	Jun 2, 2021	SYSTEM	\$4,139.63	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) overridding Payment Estimate Exception 52 on the current Payment Estimate. Material Insufficiency Quantity 1312.500; Overrun Quantity Balance 299.50.				
									5	Jun 2, 2021	SYSTEM	(\$6,214.63)	
									6	Jun 16, 2021	SYSTEM	(\$6,214.63)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Jun 16, 2021	SYSTEM	\$9,856.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) overridding Payment Estimate Exception 46 on the current Payment Estimate. Material Insufficiency Quantity 1787.500; Overrun Quantity Balance 774.50.				
					6	Jun 16, 2021	SYSTEM	\$6,214.63	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) overridding Payment Estimate Exception 46 on the current Payment Estimate. Material Insufficiency Quantity 1787.500; Overrun Quantity Balance 774.50.				
					6	Jun 16, 2021	SYSTEM	(\$9,856.25)					
				Overrun - T	otal			(\$6,214.63)					
			Overrun - T	otal				(\$6,214.63)					
	0440 -	Total						(\$6,214.63)					
	0450	MGS GUARDRAIL, 6 FT. POSTS, 3	Material		6	Jun 16, 2021	SYSTEM	\$675.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.				
		FT 1.5			6	Jun 16, 2021	SYSTEM	(\$675.00)					
				- Total				\$0.00					
			Material - To	otal				\$0.00					
	0450 -	Total						\$0.00					
	APP. SEC (R	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Material		2	Apr 16, 2021	SYSTEM	\$4,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.				
		CURB)	URB)	SYSTEM	(\$4,900.00)								
					3	May 3, 2021	SYSTEM	\$9,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.				
					3	May 3,	SYSTEM	(\$9,800.00)					



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks															
J4S3252	0460	MGS BRIDGE	Material			2021																		
		APP. TRANS SEC (REG/NO CURB)			4	May 17, 2021	SYSTEM	\$9,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.															
					4	May 17, 2021	SYSTEM	(\$9,800.00)																
					5	Jun 2, 2021	SYSTEM	\$12,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0037) due to user woodwj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.															
					5	Jun 2, 2021	SYSTEM	(\$12,250.00)																
					6	Jun 16, 2021	SYSTEM	\$12,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.															
					6	Jun 16, 2021	SYSTEM	(\$12,250.00)																
				- Total				\$0.00																
			Material - To	otal				\$0.00																
	0460 -	Total						\$0.00																
	0470	MGS END ANCHOR	Material		2	Apr 16, 2021	SYSTEM	\$800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user woodwj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.															
					2	Apr 16, 2021	SYSTEM	(\$800.00)																
					3	May 3, 2021	SYSTEM	\$1,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user woodwj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.															
					3	May 3, 2021	SYSTEM	(\$1,600.00)																
					4	May 17, 2021	SYSTEM	\$1,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.															
					4	May 17, 2021	SYSTEM	(\$1,600.00)																
					5	Jun 2, 2021	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0038) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.															
					5	Jun 2, 2021	SYSTEM	(\$5,600.00)																
					6	Jun 16, 2021	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.															
					6	Jun 16, 2021	SYSTEM	(\$6,400.00)																
				- Total				\$0.00																
			Material - To	otal				\$0.00																
	0470 -	Total						\$0.00																
	0480	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		2	Apr 16, 2021	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.															
		(HCAIVI)	3 4	3	3	3	3		(MASH)		2	2	Apr 16, 2021	SYSTEM	(\$2,350.00)									
																					3	May 3, 2021	SYSTEM	\$2,350.00
										3	May 3, 2021	SYSTEM	(\$2,350.00)											
												4	May 17, 2021	SYSTEM	\$2,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.								
					4	May 17, 2021	SYSTEM	(\$2,350.00)																
					5	Jun 2, 2021	SYSTEM	\$11,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0039) due to user woodwj1 overridding Payment															



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks											
J4S3252	0480	TYPE A	Material						Estimate Exception 13 on the current Payment Estimate.											
		CRASHWORTHY END TERMINAL (MASH)			5	Jun 2, 2021	SYSTEM	(\$11,750.00)												
					6	Jun 16, 2021	SYSTEM	\$14,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.											
					6	Jun 16, 2021	SYSTEM	(\$14,100.00)												
				- Total				\$0.00												
			Material - To	otal				\$0.00												
	0480 -	Total						\$0.00												
J4S3252	Total							(\$27,418.20)												
J4S3261	0540	TYPE 5 AGGREGATE FOR BASE	Material		2	Apr 16, 2021	SYSTEM	\$33,731.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					2	Apr 16, 2021	SYSTEM	(\$33,731.70)												
					3	May 3, 2021	SYSTEM	\$33,731.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					3	May 3, 2021	SYSTEM	(\$33,731.70)												
																4	May 17, 2021	SYSTEM	\$33,731.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
													4	May 17, 2021	SYSTEM	(\$33,731.70)				
					5	Jun 2, 2021	SYSTEM	\$33,731.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					5	Jun 2, 2021	SYSTEM	(\$33,731.70)												
					6	Jun 16, 2021	SYSTEM	\$33,731.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					6	Jun 16, 2021	SYSTEM	(\$33,731.70)												
				- Total				\$0.00												
			Material - To	otal				\$0.00												
			Price FUEL		2	Apr 16, 2021	SYSTEM	\$238.62	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
				- Total				\$238.62												
			Price FUEL	- Total				\$238.62												
	0540 -	Total						\$238.62												
	0550	BIT. PAVEMENT MIXTURE	Other Item Adjustment	ACAD	2	Apr 16, 2021	woodwj1	\$2,111.34												
		PG64-22 (BP-1)			3	May 3, 2021	woodwj1	\$618.24	AC adjustment for Estimate 0003 April 16 period											
				ACAD - Tota	al			\$2,729.58												
			Other Item /	Adjustment -	Total			\$2,729.58												
			Overrun	Overrun	3	May 3, 2021	SYSTEM	(\$1,276.23)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
				Overrun - T	otal			(\$1,276.23)												
			Overrun - T	otal				(\$1,276.23)												
			Price FUEL		2	Apr 16, 2021	SYSTEM	\$2,085.56	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					3	May 3, 2021	SYSTEM	\$627.48	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
				- Total				\$2,713.04												
			Price FUEL	- Total				\$2,713.04												



	roject	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
Second Shift Mink Custor Shift Mink Cust	00004	0550	Total		Туре				\$4.400.20	
PAVEMENT Adjustment ACAD Total September ACAD Common Total September ACAD Apr 16, SYSTEM September September ACAD Apr 16, SYSTEM Apr 16, SYS	53261			Other Item	ACAD	2	Apr 16	woodwi1		\$1050.04 \$2160.52 \$1007.05
PG64-22 (BAS Children Child		0360	PAVEMENT		ACAD	2		woodwji	\$ 5,907.29	\$1000.91, \$2100.02, \$1007.00
Overrun Color Co					ACAD - Tota	al			\$5,907.29	
				Other Item	Adjustment -	Total			\$5,907.29	
				Overrun	Overrun	2		SYSTEM	(\$3,113.59)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price 2 Apr 16 SySTEM S6,015.92 Reference item Price Adjustment Index Adjustment Type applied is FUEL FUEL Total S6,015.92 S6,015.					Overrun - T	otal			(\$3,113.59)	
FUEL				Overrun - T	otal				(\$3,113.59)	
Price Total						2		SYSTEM	\$6,015.92	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					- Total				\$6,015.92	
				Price FUEL	- Total				\$6,015.92	
CONCRETE Adjustment 3 May 3, woodwyl \$1,938.70 AC adjustment for Estimate 0002 April 02 period 3 May 3, woodwyl \$4,048.83 AC adjustment for Estimate 0003 April 16 period \$7,777.97		0560 -	Total						\$8,809.62	
3		0570	CONCRETE		ACAD	2		woodwj1	\$1,694.44	
2021 \$7,717.97			70-22 (SP125C			3		woodwj1	\$1,938.70	AC adjustment for Estimate 0002 April 02 period
Other Rem Adjustment - Total								woodwj1		AC adjustment for Estimate 0003 April 16 period
Price FUEL 2										
FUEL 2021 3 May 3, SYSTEM \$5,774.87 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2021 57,399.33				Other Item	Adjustment -	Total			\$7,717.97	
Price FUEL - Total S7,399.33							2021			, , , , , ,
Price FUEL - Total \$7,399.33						3		SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Misc. Other Item Adjustment ACAD 2 Apr 16, 2021 woodwj1 \$604.12 HMA Optional Pavement				Price FUEL	- Total					
Adjustment										
FUEL 2		0580	MISC.					woodwj1		HMA Optional Pavement
S1,388.80										
								woodwj1		HMA Optional Pavement
St. 1992.92				Other Here						
TACK COAT Material 1		0500		Other Item /	Adjustment -	Total				
1				Material		1		SYSTEM		Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment
Total \$0.00						1		SYSTEM	(\$242.50)	Estimate Exception 1 on the current Payment Estimate.
Material - Total \$0.00					- Total				\$0.00	
Solution				Material - To						
Second Partial Content of the partial Co		0590	Total	- Inches I al - I						
CL B PARTIAL Other Item Adjustment - Total \$20.34 Other Item Adjustment - Total \$20.34 OFFICE THERMO PVMT MARK, 24 IN WHIT 5 Jun 2, 2021 SYSTEM \$1,610.00 From Total SYSTEM (\$1,610.00) SYSTEM (\$1,610.00) This adjustment offsets the original system-generated Material Payment Estimate Exception 27 on the current Payment Estimate. 5 Jun 2, 2021 SYSTEM (\$1,610.00) This adjustment offsets the original system-generated Material Payment Estimate Exception 27 on the current Payment Estimate.			FURN & PLACE		ACAD	1		woodwj1		AC adjustment for March 21 period
Other Item Adjustment - Total S20.34 PREF THERMO PVMT MARK, 24 IN WHIT S20.34 S20.34 S20.34 This adjustment offsets the original system-generated Material Payment Estimate Exception 27 on the current Payment Estimate. S20.34 This adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate. SYSTEM (\$1,610.00) SYSTEM \$1,610.00 This adjustment offsets the original system-generated Material Payment			CL B PARTIAL		ACAD - Total	al			\$20,34	
0800 PREF THERMO PVMT MARK, 24 IN WHIT 5 Jun 2, 2021 SYSTEM \$1,610.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate. 5 Jun 2, 2021 (\$1,610.00) 6 Jun 16, SYSTEM \$1,610.00 This adjustment offsets the original system-generated Material Payment				Other Item						
DREF THERMO PVMT MARK, 24 IN WHIT STATES AND PREF THERMO PVMT MARK, 24 IN WHIT STATES AND PVMT MARK, 24 IN		0670	Total							
5 Jun 2, 2021 (\$1,610.00) 6 Jun 16, SYSTEM \$1,610.00 This adjustment offsets the original system-generated Material Payment			PREF THERMO PVMT MARK, 24	Material		5		SYSTEM		Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment
6 Jun 16, SYSTEM \$1,610.00 This adjustment offsets the original system-generated Material Payment			IIV VVIII			5		SYSTEM	(\$1,610.00)	Estimate Exception 27 on the current Payment Estimate.
						6	Jun 16,	SYSTEM	\$1,610.00	



oject	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
				Туре					
3261	0800	PREF THERMO PVMT MARK, 24	Material		_				Estimate Exception 28 on the current Payment Estimate.
		IN WHIT			6	Jun 16, 2021	SYSTEM	(\$1,610.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
			Overrun	Overrun	5	Jun 2, 2021	woodwj1	(\$938.00)	Manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date
					5	Jun 2, 2021	SYSTEM	\$938.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 42 on the current Payment Estimate. Material Insufficiency Quantity 115.000; Overrun Quantity Balance 67.00.
					5	Jun 2, 2021	SYSTEM	(\$938.00)	
					6	Jun 16, 2021	SYSTEM	(\$938.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Jun 16, 2021	SYSTEM	\$938.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 47 on the current Payment Estimate. Material Insufficiency Quantity 115.000; Overrun Quantity Balance 67.00.
				Overrun - T	otal			(\$938.00)	
			Overrun - T	otal				(\$938.00)	
	0800 -	Total						(\$938.00)	
	0810	PREF THERMO PVMT MARK, 24 IN YELLOW	Material		5	Jun 2, 2021	SYSTEM	\$6,678.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$6,678.00)	
					6	Jun 16, 2021	SYSTEM	\$6,678.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$6,678.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0810 -	Total						\$0.00	
	0820	PREF THERMO PVMT MARK, LT/RT ARROW	Material		5	Jun 2, 2021	SYSTEM	\$2,025.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$2,025.00)	
					6	Jun 16, 2021	SYSTEM	\$2,025.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$2,025.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0820 -	Total						\$0.00	
	0830	PREF THERMO PVMT MRKG, STRIAGHT ARROW	Material		5	Jun 2, 2021	SYSTEM	\$400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
		AKKUW			5	Jun 2, 2021	SYSTEM	(\$400.00)	
					6	Jun 16, 2021	SYSTEM	\$400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$400.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0830 -	Total						\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3261	0880	SEEDING - COOL SEASON MIXTURES	Material		5	Jun 2, 2021	SYSTEM	\$24,640.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$24,640.00)	
					6	Jun 16, 2021	SYSTEM	\$24,640.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$24,640.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	5	Jun 2, 2021	woodwj1	(\$21,560.00)	Manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date
					5	Jun 2, 2021	SYSTEM	\$21,560.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 43 on the current Payment Estimate. Material Insufficiency Quantity 0.800; Overrun Quantity Balance 0.70.
					5	Jun 2, 2021	SYSTEM	(\$21,560.00)	
					6	Jun 16, 2021	SYSTEM	(\$21,560.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Jun 16, 2021	SYSTEM	\$21,560.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 42 on the current Payment Estimate. Material Insufficiency Quantity 0.800; Overrun Quantity Balance 0.70.
				Overrun - T	otal			(\$21,560.00)	
			Overrun - T	otal				(\$21,560.00)	
	0880 -	Total						(\$21,560.00)	
	0890	ALTERNATE DITCH CHECK	Material		1	Apr 2, 2021	SYSTEM	\$2,633.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					1	Apr 2, 2021	SYSTEM	(\$2,633.40)	
					2	Apr 16, 2021	SYSTEM	\$2,633.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					2	Apr 16, 2021	SYSTEM	(\$2,633.40)	
					3	May 3, 2021	SYSTEM	\$2,633.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					3	May 3, 2021	SYSTEM	(\$2,633.40)	
					4	May 17, 2021	SYSTEM	\$2,633.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					4	May 17, 2021	SYSTEM	(\$2,633.40)	
					5	Jun 2, 2021	SYSTEM	\$2,633.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$2,633.40)	
					6	Jun 16, 2021	SYSTEM	\$2,633.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$2,633.40)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	1	Apr 2, 2021	SYSTEM	\$1,402.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 17 on the current Payment Estimate. Material Insufficiency Quantity 231.000;



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
61	0890	ALTERNATE	Overrun	Overrun					Overrun Quantity Balance 123.00.
		DITCH CHECK			1	Apr 2, 2021	woodwj1	(\$1,402.20)	manual adjustment for Overrun quantity with material exceptions. Will be removed at a later date
			Overrun - To		1	Apr 2, 2021	SYSTEM	(\$1,402.20)	
					2	Apr 16, 2021	SYSTEM	(\$1,402.20)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					2	Apr 16, 2021	SYSTEM	\$1,402.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 22 on the current Payment Estimate. Material Insufficiency Quantity 231.000; Overrun Quantity Balance 123.00.
					3	May 3, 2021	SYSTEM	(\$1,402.20)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	May 3, 2021	SYSTEM	\$1,402.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) overridding Payment Estimate Exception 23 on the current Payment Estimate. Material Insufficiency Quantity 231.000; Overrun Quantity Balance 123.00.
					4	May 17, 2021	SYSTEM	(\$1,402.20)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	May 17, 2021	SYSTEM	\$1,402.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 30 on the current Payment Estimate. Material Insufficiency Quantity 231.000; Overrun Quantity Balance 123.00.
					5	Jun 2, 2021	SYSTEM	(\$1,402.20)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	Jun 2, 2021	SYSTEM	\$1,402.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) overridding Payment Estimate Exception 44 on the current Payment Estimate. Material Insufficiency Quantity 231.000; Overrun Quantity Balance 123.00.
					6	Jun 16, 2021	SYSTEM	(\$1,402.20)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Jun 16, 2021	SYSTEM	\$1,402.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) overridding Payment Estimate Exception 43 on the current Payment Estimate. Material Insufficiency Quantity 231.000; Overrun Quantity Balance 123.00.
				Overrun - Total Total				(\$1,402.20)	
								(\$1,402.20)	
	0890 -		Material					(\$1,402.20)	
	0930	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN			4	May 17, 2021	SYSTEM	\$18,156.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	May 17, 2021	SYSTEM	(\$18,156.25)	
					5	Jun 2, 2021	SYSTEM	\$18,156.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$18,156.25)	
					6	Jun 16, 2021	SYSTEM	\$18,156.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$18,156.25)	
				- Total				\$0.00	
	0022	T-4-1	Material - To	otal				\$0.00	
	0930 -		Mad : :		4	M- 17	OVOTTO	\$0.00	This adjustment off at the sixty of the sixt
	0940	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5	Material		4	May 17, 2021	SYSTEM	\$3,726.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					4	May 17, 2021	SYSTEM	(\$3,726.00)	
					5	Jun 2, 2021	SYSTEM	\$3,726.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3261	0940	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5	Material		5	Jun 2, 2021	SYSTEM	(\$3,726.00)	
					6	Jun 16, 2021	SYSTEM	\$3,726.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$3,726.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0940 -	- Total						\$0.00	
	0960	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		4	May 17, 2021	SYSTEM	\$21,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					4	May 17, 2021	SYSTEM	(\$21,150.00)	
					5	Jun 2, 2021	SYSTEM	\$21,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$21,150.00)	
					6	Jun 16, 2021	SYSTEM	\$21,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$21,150.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0960 -	Total						\$0.00	
	0970	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	Material		4	May 17, 2021	SYSTEM	\$600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
				5 5 6	4	May 17, 2021	SYSTEM	(\$600.00)	
					5	Jun 2, 2021	SYSTEM	\$600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$600.00)	
					6	Jun 16, 2021	SYSTEM	\$600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$600.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0970 -	- Total						\$0.00	
	0980	2 IN. PSST POST - 12 GA.	Material		4	May 17, 2021	SYSTEM	\$330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				5	4	May 17, 2021	SYSTEM	(\$330.00)	
					5	Jun 2, 2021	SYSTEM	\$330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user woodwj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$330.00)	
					6	Jun 16, 2021	SYSTEM	\$330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user woodwj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$330.00)	
				- Total				\$0.00	

Jun 17, 2021

MoDOT

Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3261	0980	2 IN. PSST POST - 12 GA.	Material - To	otal				\$0.00	
	0980 -	80 - Total							
	0990	SH-FLAT SHEET	Material		4	May 17, 2021	SYSTEM	\$240.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
					4	May 17, 2021	SYSTEM	(\$240.00)	
					5	Jun 2, 2021	SYSTEM	\$240.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.
					5	Jun 2, 2021	SYSTEM	(\$240.00)	
					6	Jun 16, 2021	SYSTEM	\$240.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.
					6	Jun 16, 2021	SYSTEM	(\$240.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0990 - Total								
J4S3261 - Total									
Overall - Total									